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setpixel (x , y, color)
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Yin =YetmAx =y =y +m (1)
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X =% +—Ay = x,=x+— (2)
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void dda_line(const int x_1,constinty I,constintx 2,constinty 2)
{
int color=getcolor( );
int x1=x_1;
intyl=y 1;
int x2=x_2;
int y2=y 2;
if(x_1>x_2)
{

x1=x 2;
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yl=y_2;
x2=x_1;

y2=y_1,

}

float dx=(x2-x1);

float dy=(y2-y1);
int steps=abs(dy);

if(abs(dx)>abs(dy))
steps=abs(dx);

float x_inc=(dx/(float)steps);
float y_inc=(dy/(float)steps);

float x=x1
float y=y1

putpixel(x,y,color);

b

b

for(int count=1;count<=steps;count++)

{

X+=X_inc;
y+=y_inc;

putpixel((int)(x+0.5),(int)(y+0.5),color);

}
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void bresenham_line(const int x_1,constinty 1,constint x_2,constinty 2)
{
int color=getcolor( );
int x1=x_1;
intyl=y 1;
int x2=x_2;
int y2=y 2;
if(x_1>x_2)
{
xl=x_2;
yl=y_2;
x2=x_1;
y2=y_l;
}
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int dx=abs(x2-x1);

int dy=abs(y2-y1l);

int two_dy=(2*dy);

int two_dy_dx=(2*(dy-dx));
int p=((2*dy)-dx);

int x=x1;

int y=yl1;
putpixel(x,y,color);
while(x<x2)

{
X++;
if(p<0)
pt=two_dy;
else
{
Y-
pt=two_dy dx;
b

putpixel(x,y,color);

}
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void trigonometric_circle(const int h,const int k,const int r)
{
int color=getcolor( );
float x=0;
float y=r;

float angle=0;
float range=M_PI 4;
do
{
putpixel((int)(h+x+0.5),(int)(k-+y+0.5),color);
putpixel((int)(h+y+0.5),(int)(k+x+0.5),color);
putpixel((int)(h+y+0.5),(int)(k-x+0.5),color);
putpixel((int)(h+x+0.5),(int)(k-y+0.5),color);
putpixel((int)(h-x+0.5),(int)(k-y+0.5),color);
putpixel((int)(h-y+0.5),(int)(k-x+0.5),color);
putpixel((int)(h-y+0.5),(int)(k+x+0.5),color);
putpixel((int)(h-x+0.5),(int)(k+y+0.5),color);
angle+=0.001;
x=(r*cos(angle));
y=(r*sin(angle));
b
while(angle<=range);

;
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: Midpoint Circle Drawing Algorithm
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void midpoint_circle(const int h,const int k,const int r)
{

int color=getcolor( );

int x=0;

int y=r;

int p=(1-r);

do {
putpixel((h+x),(k+y),color);
putpixel((h+y),(k+x),color);
putpixel((h+y),(k-x),color);
putpixel((h+x),(k-y),color);
putpixel((h-x),(k-y),color);
putpixel((h-y),(k-x),color);
putpixel((h-y),(k+x),color);
putpixel((h-x),(k+y),color);
X++;
if(p<0)

pH=((2*x)+1);
else {
y=-;
\ pH=((2*(x-y)*+1):}

while(x<=y);
}

2 (ot o y ol 3 9531
s ol b s o |y gy SIS« cpal iy sl o0 oS ol oy oy ¢ Slodo iy o5 S 0

295 ey 0 pld o,

e 2l
o g lie (o 315 ) Colt alai 30 31 LT alols g yame 45 55 o ciy o5 bl §I (gl degorme O ypms ke

d, + d, = Constant
F=(x, ). 5 =(%, %)

P = (x, vl
\/(X-Xl)z +(y-n) +\/(X_Xz)2 +(y-y,)’ = constant
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void trigonometric_ellipse(const int h,const int k,const int rx,const int ry)
{
int color=getcolor( );
float x=0;
float y=ry;
float angle=0;
float range=rx;
do
{
putpixel((int)(h+x+0.5),(int)(k-+y+0.5),color);
putpixel((int)(h+x+0.5),(int)(k-y+0.5),color);
putpixel((int)(h-x+0.5),(int)(k-y+0.5),color);
putpixel((int)(h-x+0.5),(int)(k+y+0.5),color);
angle+=0.05;
x=(rx*cos(angle));
y=(ry*sin(angle));
}
while(angle<=range);

}
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B = f(x+Ly,~)= b(x+)+a’(y,—- )’ —a’b’ = b'(x*+2x+1)+a’(y' -y + /) -a’b’
if P, <0, select E:

P."= f(x+2,y,-})= b(x+2) +a’(y, - ) —-a’b’= b (x +4x +d)+a’(y -y +))-a’b
APF =P " -P =b'(2x,+3)

k+1



12 n 4y SIS e 5l S S

if P, >0, select SE:

B.” = f(x+2y,-A) = b(x+2) +a (¥~ -a’b’ = b'(x +4x +H+a’(y’ -3y, +Y)-a’b’
AP =P, — P, =b*(2x,+3)-22%(y,-1)

calculate the change of AP, :

if E is selected :

AP F=b'(2x +5)

A’PE=AP_F—APE=2p

k+1

AEMSE = bz(ZXk +5)—232(yk—1)
AZPkSE — AP SE_APkSE —2p

k+1

if SE is selected :
AP,ME = b2(2xk +5)
A’PF =AP." -APS =2b

k+1

AP,,* =b'(2x,+5)=2a(y, ~1)
AP = AP — AP =2(a’ + b)

Initial Value:

x,=0,y,=b,P,=b"+Y,a’(1-4b)
APRF =3b*,AR* =3b —2a*(b-1)

B0 Y e pes aml 4o a8 Sl ol b el Js) 4l aiile loslre alas dy/ dx< =1 a5 pgs axb o

(xka }'rk)
T
— AN
e 4.\ __SE
Prediction /
(x+Y2, y,—1)

Ve = Y~ i oo)ls Gile 4l (oo 2alS axly SO Y ailie al>po 0 0
Xy = X ] s 995 QLI SE STy X, = X, ¢ s 098 il S 31

Region II

P = f(x,+ 4, y,—-)= b(x,+})+a’(y,~-1)-ab’ = b (x +x +y)+a’(y -2y +1)-a’b
if P, >0, select S:

P 5= f(x,+),y,—-2)= b(x,+¥)+a’(y -2 -a’b’= b (x +x. +/)+a(y -4y +4)-a’b
AR’ =P’ ~B =2'(3-2y,)
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if P, <0, select SE:

PkHSE = f(x,+%,y,-2)= bz(xk+%)2 +212(yk—2)2 —a’b’ = bz(xk2 +3Xk+%)—i-z12(yk2 —4_yk+4)—z12b2
AP =P ¥ -P =2b(x,+1)+a’(3-2y,)

calculate the change of AP, :

if S is selected :

AP =a*(5-2y,)

AZPS —APMS APS 2a°

APIMSE —2b2(xk +l)+az(5—2yk)

A2PSE B\+ISE—APSE 232

if SE is selected :

AP, =a*(5-2y,)

AZPS —APMS APKE =2a’

APIMSE = 2b2(2xk +2)— az(S—Zyk)

A2PkSE AB\+ISE_APSE_2(32+b2)

o)l 4l 90y 5500

f(x, y) =0, dy__ -bx
dx 1-x/a°
32 b2
when dy/dx=-1, x=———= and y=——.
Ja'+b Ja'+b

2 2

At regionl, dy/ dx>—1, X<—2 and y> b—, therefore
a’+b a’+b

2 2
AP < b’ [L+3)—232(b——1j=232 +3b
a

Va’+b +b
Initial Value at region2 :

a
XO_\/32+

and y, =

NES +b2

Sgdue s3be osly 5 &g CHt ol jo 02,65 ol

void midpoint_ellipse(const int h,const int k,const int a,const int b)
{
float aa=(a*a);,
float bb=(b*b);
float aa2=(aa*2);
floatbb2=(bb*2);
float x=0;
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float y=b;
float fx=0;
float fy=(aa2*b);

float p=(int)(bb-(aa*b)+(0.25*aa)+0.5);

putpixel((h+x),(k+y),color);
putpixel((h+x),(k-y),color);
putpixel((h-x),(k-y),color);
putpixel((h-x),(k+y),color);
while(fx<fy)
{
X++;
fx+=bb2;
if(p<0)
p+=(fx+bb);
else {
y=-3
fy-=aa2;
p+=(fx+bb-fy);

putpixel((h+x),(k+y),color);

putpixel((h+x),(k-y),color);

putpixel((h-x),(k-y),color);

putpixel((h-x),(k+y),color);
}

p=(int)((bb*(x+0.5)*(x+0.5))+(aa*(y-1)*(y-1))-(aa*bb)+0.5);

while(y>0) {
y-;
fy-=aa2;
if(p>=0)

p+=(aa-fy);
else {

X++;
fx+=bb2;
p+=(fx+aa-fy);

}
putpixel((h+x),(k+y),color);
putpixel((h+x),(k-y),color);
putpixel((h-x),(k-y),color);
putpixel((h-x),(k+y),color);




